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PAPER: ECOA-III
Time Allotted: 4 Hours Full Marks: 100
The figuresin the margin indicate full marks. efifem ST 507 G T e T
Candidates should answer in their own words AR [0S SIRNT T TS AT M
and adhere to the word limit as practicable. es A

Use separate Answer Scripts for each Group and Mention the Group on Answer Book
efefo feitnd aay fon Teasia 359217 I 932 Tea7ltaq $oiF fqort g Sl
GROUP-A

fen-7

1 Answer any three questions from the following: 4x3 =12

fasfEie @-ceiet foqit evia Ted niss

(8 What is dominant strategy? Why is equilibrium of a market is stable in the
presence of dominant strategy?

fFreTFIST (FIeT ToT0e [ @I 2 Ko orFIa (P T7ifEe AT AR SR
g (oMol 21 (& 9

(b) Establish the relation between monopoly power and price elasticity of demand.
GFCHA] o ¢ bifRwIR wiaie ZfeBeRFeR Sty 71 fadize wc

(c) Show that the elasticity of supply of an input governsthe level of rent.
Al (@ ER Al e I3 TAAMs Somita Qe FEfogieRror T

(d) Mention the prime characteristics of monopolistic competition.
GBI ARSI AR 2/ (e Srard Fel|

(e) What is meant by externality in consumption? Give an example.
(SR (T T 2ol Triggel 7RIl N FEI |
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2.

3.

Answer any one question from the following:

foafere @-FI 90 it Tes niss

(d) What is Cartel? Use ‘Prisoner’s Dilemma’ to explain instability of Cartel.
FICHST T670@ fF I 2 “ Prisoner’ s Dilemma -93 AR FI060aa SRR i el

(b) What is excess capacity of a firm under monopolistic competition? How can
excess Production Capacity be decomposed into two parts?

GFEHAN eferEITerET AEIE TR Tge ol e T @R 2 92 Tge Sesiwe
OIS FoI 1fb ©itel ©lsl 1 0 9

(c) Explain the equilibrium of a monopolist under third degree price discrimination.

TR NG RN 7RFFACR (G GF 0! FRAIT Sy o S|

Answer any two guestions from the following:
fasfere @-coeat 7ff elcss Teg wies

(@) Explain the concepts of monopolistic and monopsonistic exploitation of labour.
Explain the role of Trade Union in raising both wage rate and employment in
monopsoni stic market.

QFHHA FREI 8 TS 2P e el 7io i Seat e e
TG 2R @ Al TerR Jfanrs wfi WReOTTH SR Sicam T

(b) ()

(i)

© ()

(i)

(d ()

2045

(i)

Explain the short-run equilibrium in a monopolistic competitive market.
GFCH A LSTINSIETE AGICH I FHFIEA S fefae Fai

Show with example how a person can reduce risk through diversification.
Tmizgel AN A I eI «Fe e (@fbraa e i 2m F0e @)

Can you even obtain the market demand for a productive service from the
simple summation of individual factor demand curve?

T rE e Bifenl @R 361 Qs (F [ FACA 93 Soiwacer e
Bifent Gl e 401 A 9

How elasticity of factor substitution and the change in relative factor supply
relate to the changesin relative factor share?

sfFaoer FEfsETel, TAMICTR e @9 € SAWMCT Qearee SRAmia
RFOIR TRTe ¢

In the Stackelberg Model, the firm that sets output first has an advantage.
Explain why.

(T TeoAme afSD B TeAmea 2w 2 3 3, “Stackelberg’-E3 NS
1 T A AP | (& I AN

Discuss the role of conjectural variation in the determination of equilibrium
under Oligopoly.

SeTalieller A SRER WiE Saaed wibaeiee aren-a7 i Sl
BI&l
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GROUP-B
faert-4
Answer any three questions from the following:
ffefae @-ie foafe 2iesa Tex mies
What is meant by Hysteresis?
bt 75 ce f[F @Il 9
What is the ‘ Policy-Ineffectiveness Proposition’ of the New Classical School?

T IR Tifer FiToRTer et F 9

How an Income Tax on corporate profit affects investment decision?
ifeifer<s FER AP Tl T SR [Feicd Ridcie Praes aelike e ¢
What is Fisher Effect? — Explain.

fFeifa erord 5 2 il el

What are the alternative definitions of money supply?

ol @I Res Relefe [ fF 9

Answer any one question from the following:

feafere @-I 9= 2ivaa Tes nies

Explain how co-ordination failure may lead to recession.

TEEE IOl [FOIR 3 378 FA09 #1103 1 FER |

Explain how current price level is influenced by current and future money
supply.

TG 6 TR ST QoM FOIT TEHA FHEAE 2@l T 1] Sl |

Using Fisher’s model, show how changes in income and real interest rate affect
consumption.

Rl wel IR I A [P SRR 7RIS @R 2iFe F0vR 2ER RIS
Tre)) (lel 2reife 23

Answer any two guestions from the following:
fasferie @-cea 76 et Teg wies

Define Phillips Curve and show that, in the short run Phillips curve is negatively
sloped while in the long-run, it becomes vertical. Derive the Phillips curve from
the aggregate supply curve.

o™ @UF e w8 @R WA @, FHFCE FEe @D AASF Glermm e
RGP ©f ToT SIS 47 T | ANEF @alie @2 (T fetsm @2t fozmore s
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(b)

(©

(d)
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Explain how the Life Cycle Hypothesis attempts to explain the short run
variability and long run constancy of Average Propensity to Consume (APC).
What are the limitations of the theory?

T (ORIl FeFe AT T eTel @ LA ZoiF Glave afowaa MR
QA I 92 eAfoFEa Taele & & 9

How do the Real Business Cycle theorists explain short run economic
fluctuation in output and employment with the help of change in fiscal policy
and shocks to technology?

2o AdEIvE g el f[Tel e wivdie ¢ aiffes Sfewited M)
FHFICE oA 8 IR S A FCE 9
What is meant by regressive expectation? Why the individual speculative

demand for money curve is a step function while the aggregate demand for
money function is downward sloping?

SYiafENe et IeTCe 5 @RI T 2 @ odd Jfesrs wivasie sifzn @i
Yioige 27 T3 AfeT @D AeSRE GIepTiy 23 ANCE 9
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